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• pqT�rYM+MF_`H�TVOX]cPYb�]cKsf>M6\N]crYMFf�Rt\NPYWuIJ]cb>M�TV\k]ce6MFf'MF_vH>TVOX]cPYb�KNMFO
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• �s[>M6PS\Nx']cKsPYHLOXIc]Jb>MFf']cb ��¥%¦v¦ W§TVb>f©¨©ªSb>bL]J«��E���Y�Y���
• ¬­PYIJH­OX]JPSb>KC]Jb>^FIJHLf>M®RtH>IJI¯TVOkW!PYKNZ>[>MF\kM
• ��]c^FOkH>\kM°]cKQKNPYW!MAg%[�TVO®�Ff>]cKNOkPY\NOkM6f:�#��^6PYWBZ>\kMFKkKNM6f(]cbBH>Z>Z�M6\�IcMFrYMFIJKF�v^6PYbLKNO±TVb`OgCT�rYMFIJMFb>{SOX[�PSR�f>]JK}OXH>\k|>TSb>^FM6K°]cK%bLPSO°^FIJM6TS\kIixyrv]cKk]J|LIJM
• PY\kPY{S\XTSZ>[�x(]JKsfLMFo�b>MFfDTSK
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1 + (x − x0)2/a2
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²%³>´6µN´ h0 ¶J·®¸B¹Yº>»�¼±½S¶c» ³L´ ¶J¾ ³ ¼6¿ ax ¶c·®¸B¹Yº>»`¼X½S¶J» ³ ½SÀiÁÃÂ ² ¶cÄL¼ ³ ½S»>Ä x0 ¶c·�¼ ³>´³ ¹ µ ¶cÅ6¹Y»�¼±½SÀUÆF¹v¹ µ Ä>¶c»�½V¼ ´ ¹SÁ
¸B¹Yº>»�¼±½V¶J»(¼X¹SÇ¯È
• Æ6¹Y¸B¸B¹Y»>ÀiÉyº>· ´ ÄqÊAËÌ¶i¼XÆ ³ ¹VÁ
Íw¾Y» ´ ·N¶ÎÊ®¶J·sÄ ´AÏ » ´ Ä
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ÐÒÑÔÓ Ó Ñ.Õ Õ'Ñ.Õ'Ö'×FÓ Ø%Õ'ÙE×FÑ.Õ'Ú+ÛÝÜ�Ñ°Þ ßdà'Úlá�Ú+ß�â:ØCá�×6ÙEâ:×6ßCÙ
ã°ä�å Ç�½ µ ½S¸ ´ ¼ ´6µ · ³ ¹ ² ·!ÀJ¶c» ´ ½ µ ¶i¼æÉq¹VÁ�¼ ³>´'ç ¹ ² È�èv¹Y¸ ´ ¼X¶c¸ ´ · µk´ Á ´6µN´ Ä�½S·yé µ ¹Yº>Ä ´»`º>¸zê ´6µ ÈQè ´6´!ë�ì ½V¶J» ´ ·6¿¯í�îYî�ïYðQÁt¹ µ Ä>¶c·kÆFº>·k·N¶J¹Y»¯È

Nh0

U
<< 1, linear flow

ñ ¹Y» ³ ÉvÄ µ ¹Y·N¼X½V¼X¶cÆ6¶i¼æÉyÇ�½ µ ½V¸ ´ ¼ ´6µ ¿>·k¹Y¸ ´ ¼X¶J¸ ´ · µk´ Á ´6µk´ Ä©½S·wèvÆ6¹ µN´6µ Ç�½ µ ½S¸ ´ ¼ ´Fµ
Nax

U
>> 1, hydrostatic flow
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∼ 1, nonhydrostatic flowó�ôYõ!ö6ôS÷>øNù±úV÷`ù0õkûAütû6õNû6÷>öFûDùXû6ýBþ�û6õkúVùXÿLõkûDþLõkô����cû~ù��Lû��#õkÿL÷`ù	��

���cø����Ãú�ütõkû��`ÿ>û6÷>ö����cøöFôYý!þLÿLùXû��
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� �>ûFõkû g = 9.81 m/s2
�cø��YõXú����cù±úaù��côY÷�ú��%úSö6öFû��cû6õXúaù��JôS÷��

cp = 1004 J/(kg · K)�cøkô ��úVõ!�Jö"�Lû�úVù°ö6úSþ�úSö��cù#�0úS÷$�
T0
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i/j�jYýk��il6VúS÷$�9mn�S÷L÷$�^oV� pq6@:=< <�<;6-i%û6øNþ�ôY÷>økûCôSüV�$�srUûFõkûF÷`ù�÷LôY÷$�5���>õNôYøNùXúVù��cö#ý!ô��Lû��JøùXôjôYõNô �YõkúSþ$�$�cö�ütôYõkö��J÷$�$62t;`vuwPWxUB=Q�`wTyK�Jz`s{}|V~��vh > >��l�1h > ���
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